Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C311703 Date: 03/06/2016
Subject Name: Principal of Chemical Engineering

Time: 02.30 PM TO 04:00 PM Total Marks: 70
Instructions:

1.

2
3.
4.
5

No.

Attempt all questions.
Make suitable assumption wherever necessary.
Each question is of 1 mark.

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
English version is authentic.
Question Text and Option

Which is the process of formation of solid from liquid or gas?

A. Evaporation B Blending

C. Crystallization D. Continues process
yatdl 3 ctzyy Hi ol dat clotallell ulsan A ¢ s& 82

A. oileletaat B. oAle3oL

c. (2 8ls0L D. sotdloA UA™
Which is the type of grinding mill?

A. Wind mill B. Water mill

C. Weeper mill D. All of these

USSPl At A uslk s B2

A. @Qos M B. dle: MAa

c. (Qu: Aa D. GUR oll «tll

By which process water can be removed from another solvent?

A. Drying B. Evaporation

C. Batch process D. all of these

585 U2 gkt atas Hi &l well g2 sRauHl AU B2

A. sLEsaL B. oindleictat

G AU YA D. GUR oll ol

In __ process physical change occurs during manufacturing of product
AL Unit process B Unit operation

G Cracking B none

_ yBau Hi Gauleot eRalet uetel Hi wiat alllds uRadet s B
A. (e WA B. Yl 202U

! 3(3oL D. GuR ol Hi &l 81 <@

Name the process for transfer material from one place to another
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10.

10.

A. Grinding B. Centrifugation

Gl Conveying D. Al

Ueld A As oo &l olloy o2 wWetidRe scllell Bl of oitd U
A. ALeSasoL B. Acpleydlalet

G so2(loL D. GUR el vl

The method or technique used for manufacturing of product without interruption

is known as_____

A. Batch process B. Continuous process

C. Evaporation D. Crushing

S8 URL UsIR oll QAU [@Qotl Geuteat ofl ugld 3 2solls A 53 B
A. AU WNAR B. Sotdloud WY

c. crwdletctot D. s@lot

is the instrument used for drying purpose

A. Dryer B. Evaporator
C. Agitator D. Grinder
_ BusRWL SIEIL HI2 duRlA B

A. slaR B. &adure?

c. AYeeR D. oUeSR

In case of spray dryer the final product comes in the form of
A. Powder form B. Liquid form
(o0 Solid form D. Gaseous form
A slAR ol WIsse 30 Su D

A. WBs? 3y B. yaél 3u
C. Yol ¥3U D. cly «3uU
Operations are the combination of

A. Process B. Unit

C. Data D. Variable
@R 2QV3et oll ¥Awel WA

A. YRR B. AsH

c. 3al D. AdAuc

In unit operation Agitation means

A. Mixing B. Crushing

C. Drying D. Crystallization
YlAe WAt ML A2t WA

A. RICE B. 5@l
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1.

1.

12.

12.

13.

14.

14.

15

15;

e, SLesaL D.

The Process is done in batches is known as___

A. Continuous B.

C. Both of the above D.

_ yBa QU M sl A B

A. solelou

€ GUR oll ¢ia D.

Crushing is a process to_______ 7

A. Increase the size

G Drying D.

s@ot A __ u@ ol ya &2

A. S€ ctllRall HI2

C. SLesaL

What is main function of filtration?

A. Remove impurity from water

C. Remove impurity from D.
leather

(Bc2atot of Yuau st g B?

A. wiell |l ol (& gR sRal B

G. AL 1 el 1yl gR D.
5dl

Centrifugation process is used to separate

w2 4ls20l
Process
Batch

None of the above

A
GUR otl Higl 818 o

Decrease the size

Evaporating

$E Yalsal Hie
olsletctot

Remove impurity from rubber

None of the above

002 Wi ol A& gR sl
GUR ol Hill 8 <1}

Solid from liquid

None of the above

yeudl di ol uet
GUR ol Hiell 518 i3

Hydrogen

A. Liguid from Liquid B.

C. Both of the above D.
Acglsdlalet YBal A el wsall HI2 duRjlad 8§
A. yaugl Hi ol yaugl B.

C. GUR ol olal D.

In the Hydrogenation process __ is added?

A. Chlorine B.

C. Bromine D.

All of above

sleglaglet ofl U2l Ui GRARaUH WA 8?7

A. scAldlat B. &legloset

C. {lot D. GUR all ctHId
Caffeine is extracted from coffee by __ process

A. Cracking B.  Extraction
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C. Hydrogenation D. None
A4l |l &l 38l gl £R sl waA B

A. 330t B. Wegsiel

C. slealst D. GuR ol uiell 8 <l
Which polymer is used in electrical appliances as an insulator?

A. PVC B. Poly propylene

E Teflon D. None

SAsAsct GUsN Ml ByA2? Al sl WellHR auRid B?

A. PVC B. Wl MRcllot

& 2gcllot D. GuR ol Hiel 818 @
Which is the process of breaking large molecule into small molecules?
A. Hydrogenation B. Extraction

C. Cracking D. Al

56 UBall 1l el Ul A Al sttt AR sleltactl wd 82
A. BB ALt B. u&gsilel

e. (5oL D. GUR all M

The process of removal of hydrogen in known as

A. Dehalogenation B. Dehydrogenation
C. Hydrogenation D. None

slodloret g2 scllell yBau 56 8

A. SlEA AL B. Slalsglyaalet
o} slBgAst D. GUR ol Higll 818 (3
Removal of pollutant from compound is done by ___ process.
A. Hydrogenation B. Extraction

C. Cracking D. Adsorption
Rael ui ol ygnsl _ uBal sl g2 53 asid ®

A. slBSloya et B. We&sal

G 3oL D. atllalmel

The process of taking something from one liquid and forcing it to become
dissolved in another liquid is known as

A. Drying B. Evaporation

C. Batch process D. extraction

As yeldl ol ol A uetdl g2 53 ollost yeudl ui i ol yal
59

A. SLesaL B. cunletcet
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22.

22.

23

23.

24.

24.

25,

25.

26.

26.

. AU YIRAU D. Weasat

is the process of formation of polymer.

A. Polymerization B. Adsorption

C. Absorption D. Extraction

A WdMR wetalsll a8

A. AAHRE B2 B. ueflallmal

C: LSRN D. Ae&gslal

_____is the process of adding alkyl group from one molecule to another molecule
A. Hydrogenation B. Dehydrogenation

c. alkylation ‘ D. none of these

A Dls g i ol messe e §R 81 oflost 2e] Hi GRReusAl uldl
2]

A. slegle et B. Slalogloeialet

c. M HE D. GuR ol Higdl 8 o

Name the process to break higher hydrocarbons into a variety of lower
hydrocarbons that are more volatile (low boiling)

A. Cracking B. Hydrogenation

G. Isomerism D. All of the above

el slodsiolet A AL FEL FEL otlotl slBRsL0lat Yy gl ay ovellet 8l B,
setleleltoll (Bl of ot euel

A. 3301 B. &leglalet

C. UGS ARIAUH D. GUR oll dHIH

By which Process the molecular structure of a hydrocarbon is rearranged to
change its properties?

A. Isomerisation B. Crystallization

C. Polymerisation D. Cracking

565 Ul sl eledlsiolet oit uUY ofl 2uelt H 32512 531 Aol oauunl
olecclHl wa B?

A. LS ANRAB R o B. SlRASIUs
o WAHRAS R p. 301
Vegetable Ghee is made by e T

A. Hydrogenation B. Isomerism

C. Polymerisation D. Alkylation
_ yBau iRt astieu@ ¢l oletteal Ml A 82

A. alesgleaglel B.  wSAAINAH
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27

27

28.

28.

29.

Z9;

30.

30.

31,

31,

o WelHRASReLot D. ucslAglet

— process occurs when a chemical is removed from one gas or liquid stream
by mixing it with another stream

A. Absorption B. Cracking

C. Alkylation D.  Hydrogenation

_ A8 ARy yadl A ol ay ¥ yadl dadl A 818 il g2
sclloll (32U &

A. ™ML B. (501

c. WS AU D. &lBslealet

PVC is manufactured by process

A. Alkylation B.  Polymerisation

C. Hydrogenation D.  Cracking

PVC ___ JBal gkl ¢a B

A. UK ALl B. WlHASIaat

(6 slBQoaglet D. 3301

The law which gives information about conservation of energy is?

A, First law of thermodynamics B.  Second law of thermodynamics

C. Third law of thermodynamics D. Zero law of thermodynamics

sl Al God 2iReel AR WRA wd 7

A. Guoldau ol yaun B. Guolau ol ollogl Ran
[Qan

c. Guafda ol Al Qan b, Gwol@eu «l % Raud

Burning of coal is the example of which type of reaction?

A. Exothermic B. Endothermic

C. Both D. None

Sl of MoLg A sl ysR ofl Y 82

A. GuAus B. Galus

G GUR ol ol D. GUR el Wi Yl 8¢ o3

Free energy of all spontaneous reaction always decreases is the statement of

A. 1* law thermodynamics B. 2" law thermodynamics

C. 3" law thermodynamics D. Zero law thermodynamics

AUUAR Ul etll Ylsaul 1L Ysct Gost Hi uelsl et B, ul @Qulet ___ of B

A. QR ol Yaur B. Gwdudaut ol ofll [Ran
[(Ran |

6/14



32.

32.

33

33.

34.

34.

357

35.

36.

36.

37.

C. GulQaut ol A% Ran . GuAaust ol Al [Ran

The reaction in which formation of bond occurs is?

A Exothermic B. Endothermic

C. Both D. None

ABs oit ol Ut w2 R s YsR ol uBa wa 8?

A. GuUdus B. GeHlelus

G GUR il 6l D. GUR ol Hi &l 8 R
Entropy is the .....

A. Measure of Randomness B. Chemical property

C. Law of thermodynamics D. MNone

Aol Aed

A. vl ol HIU B. 2ABls oputuxl

o GuoQauat ol [ D. GUR ol i &l 88 1@
At which temperature Entropy of a pure crystal will be 07

A. 100 °Celcius B. O °Celcius

C: O °Fahrenheit D. O Kelvin

sal AlUHIA 2a 8RS ol Aol Ul gle Sl B?

A 100 *AERAA B. O “ARAax

(o 0 °¥Ratle D. 0 ¥ccllot

Energy neither created nor destroyed is the statement of which law of

Thermodynamics?

A. First B. second

C. third D. zeroth

Gol ol Aot 3 [@Qottal 2tsat otell. U Quilot GBOUAAR oll sl QAauH o0 B?
A. yaH B. ollent

c. Alest D. g

For all spontaneous reaction value of free energy of a system would be?
A. Positive B. Negative

C. zero D. Al of these

U Ul cell uBaull 2 yeuell ol ysd Gt decll sl B2

A. tlol B. Rl

c. el D. GBGuR oll cdH X

According to first law of thermodynamics. . .

A. Total internal energy of a B. Work done by a system is equal

system during a process to the heat transferred by the



37

38.

38.

39.

39.

40.

40.

41.

41.

remains constant system
C. Total energy of a system D. None of the above
remains constant
GuolQaut ol yuH @Qad Yoo, . .
A yBau exauet yeudl ol B.  yeucl gl ud st aui el Gul
Wdls Gol AN 2D B ol [QRAMA B2 8 B
c.  youcl ol geet Gol UAA R D D GUR oll M Yl A 1@

The thermodynamic property known as temperature can be measured by the

method based on ____ law of thermodynamics

A. Zeroth Law B. First Law

G. Second Law D. Third Law

GUHOIQAR ofl IR dAlUHIol of Mol ____ Ram UR AR usld 612l
A B

A. 9ot [ B. yuu [Qan

e oot [Aaun D. At Ran

In normal condition, the refrigerant enters in the compressor in an operating
refrigeration system as?

A. Dry saturated gas B. Superheated vapour

(& Liquid D. Wet saturated gas

AR A 2220t AeM UL Blds $1UUR M 58 AU HI ELUA Al
8?

A. Ysl Adid ay B. v arM aRl

&, yasl D. Q% Ysct Al A
Chemical change that is accompanied by an absorption of heat is known as?
A. Exothermic B. Endothermic

C. Absothermic D. Adiabatic

GuL ol A0MEL WA ASAA Yl A 9 5& B?

A. GeHaus B. GaMiglus

o7 woqUlls D. Al

Chemical change that is accompanied by an release of heat is known as?
A. Exothermic B. Endothermic

C. Absothermic D. Adiabatic

R YBall G ofl Yl WA HASAA & AHa g 56 B?

A. GHaUs B. Gaidlus

o ENDIRE D. Al
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42.

42,

43.

43,

44,

44,

45,

45.

46.

46.

47.

47.

Which type of impeller is used in centrifugal pumps?

A. Open B. Semi open

G Close D. Al

Acdlegolet Wi M 52l Y8R ol 1R a8 ?

A. Ut B. Al xuet

o sAlM D. GUR ol dMIH

Which is used to transfer liquid from one place to another place?

A. Pumps B. Compressor
C. Conveyer D. Al
yaldl of Wlelicl? sal HIE § dAURA B?
A. wy B. s
C. §0AAR D. GUR all dMIH
___is the advantage of centrifugal pumps?
A. It has a small size B. It has a high weight
C. It has a high maintenances ~ D. It vibrates
cost
Aol Wi oll SlAEL 82
A. alloll U B. dYy %ol
c Ay el wil D. AYZ®H
Which from following decreases the volume & increases the pressure of air?
A. Air compressor B. Elevator
C. Pumps D. Al
oot Wi Al 5 sl of EGIQL AUR A SE ©RLd B?
A. AR 51YUR B. udlae?
C. uy D. GUR ol dMIH

Which are types of impeller use in reciprocating pump?

A. Open B. Semi Open

C. Close D. None of above
U0l Wi Hi sl YSIR oll SRAER AR B2

A. Al Uet B. Al 2Alud

¢ sA D. GuR ol ui &l AY o}
Piston pump and plunger pump are types of ____ pump

A. Centrifugal B. Reciprocating

C. Rotary D. Screw

Yieol WU UA Welo? WU __ YSIR oll WU B
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Aol szpoled B. {Ulat

Aedl D. %

is used to transfer solid materials from one place to another place.
A. Pump B. Compressor

Belt Conveyor D. None of the above

ol GURoL tel UsLal A As ol A &l ol w2 A ygdlasal M
alA B

A. yy B. S

C. Az soA2R D. GUR ol Ml &l 8
Which is the not a type of pump?

A. Centrifugal pump B. Zig-zag Pump

C: Reciprocating Pump D. Rotary Vane pump
ol ol Wi ol s Wi oA Ysi1R otell?

A. AR WU B. oflo-3oL Wi

c: RAWEELL wu D. Redl wu
Conveyer is used for

A. Compression B. Combination

C. drying D. Object Transfer
5cQ2AR M2 AuRA D

A. 51990t B. el

o SLesal D. Ueld oll WA

material is used to make Belts in a Belt Conveyer?

A. Rubber B. Leather

C. Fabric D. All of the above
_ ueld Qe olelldal HIR duRld B?

A. R04R B. AU

C. sLUS D. GUR ol dHIH

The moving part of a centrifugal pump is known as?

A. Impeller B. Volute
C. Suction nozzle D. Diffuser
Aorllsrolet Wi ott dlAellet el A g 58 B?

A. AR B. A&
e, US Ut ABA D. SlsyuR

The basic function of an air dryer in a compressor is to

A. Prevent dust from entering B. Reduce the temperature of the air
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53.

54.

54.

55

55.

56.

56.

57.

57.

the before it enters the next stage to

compressor increase efficiency
C. Store and smoothen the D. Remove remaining traces of
pulsating air output moisture

after the after-cooler

510U M AR glaRell Huu s ___ 8

A. $10u2 Hi Yy A yaadl B, eall A oflat cotsst Hi Mscel
westadl Aetl Aol dAtuHlet g 89

. &d oll A3 53 A el D. o&cl Hi &l A% g2 sal HE
@Astat 1l AL A
59

Which of the compressors is used to supply large quantities of air?

A. Reciprocating B. Rotary screw

C. Rotary vane D. Centrifugal

sall $1YUR scll oll M2l el YA Ulsall HIZ AuRd B?

A. ERINEEAG B. 2Aedl

G. Aedl Ast D. Aeodleyold

Material used to make impeller is

A. Steel B. Cast Iron

C. All of the above D. None of the above

S1AAR Glotlalal HI2 duldl uetd 8

A. ¥l B. Sl sl

o8 GUR oll 6iat D. GUR ol Hi 2l 818 o3

Bucket Elevators are used in _____

A. Mining Industry B. Cement Industry

C. Thermal Power Plant D. All of the above

oye wc{laz: ol W dupAA B

A. Rl Galal B. [N Gelat

e ad WeaR wle D. GUR all dHIH

Which is the principle of electrochemical cell?

A. Chemical energy into B. Electrical energy into Chemical
electrical energy energy

c. Mechanical into chemical D. None
energy

@t 2ua@ls SN sl Rl uR st 52 B2
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58.

58.

59,

59.

60.

60.

61.

61.

62.

62.

A. 2wa@s Gl of Qyct G B, Qg G of s G ul

Ui 3ULAR 3UAR
e. 2Bs Gt of 2u2@s G D GUR ol Ml Al B R
Yl 3uld?

Which is the value of pH of acidic compound?

A. 14 B. =7

C. >7 B. €7
ARs slagl of pH o &l B?

A. 14 B =7

Ci >7 D. <@

is the example of oxidation

A. Removal of electron from B. Removal of oxygen from element
element

C. Addition of electron in D. Al
element

R AARet of GELERQ B

A. decl i ol 8AsAet £2 4 B, ctect Ml ol (A%t g2 ud

C. decl Hl 8As2et GRRY D. GUR oll dHIH

Electrochemistry deal with study of conversation of.....

A. Electrical energy into B. Chemical energy into electrical
chemical energy energy

C. None of the above D. Both of the above

@t ARl i 3UidR AUA Aol ugA B

A. @i Gl of 2walls Gt B, 2uA@s G of Qg G

c. GuR ol i &l 818 @ D. GUR all 6l

The process of reduction means?

A. Addition of electron B. Removal of electron

C. Removal of hydrogen D. Addition of oxygen

Rssalet Yl Ae@?

A. gAslet GRRallell (32 B. aAsdlatl g2 scloll Bau

G slesglosel GRRelell (Bl D. @t GRRausll B

______is the pH of pure water

A. More than 7 B. Less than 7

G. Equal to 7 D. zero

9l Wl o pH au B
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63.

63.

64.

64.

65.

65.

66.

66.

67.

67.

68.

A. 7 dl ay B. 7 A

G 7 D. o
Electrochemical cells contain

A. Positive Electrode B. Negative Electrode
C. Electrolyte D. All of the above
Qegctraa@ds sy au B

A. ot Qg Yo B. 0 [@Qyd Yo
o3 Qe RQeua D. GUR oll dMIH
When two or more cells are connected in series they form __
A. Electrode B. Electrolyte

C. Battery D. All of the above
X A Y Ay Sle A AN Ui BAscllHl WA D AR ___ ¢l B
A. Qg Yo B. [Agd [Qeuxa
e azsl D. GUR all ctHIH
If the pH meter shows the pH of solution = 7.5, the solution is?
A. Acid B. Salt

C. Base D. Pure Water

o pH Hl2? alael ol pH o.u €20 Al A dladl 53 B7?

A. ARS B. &R

& A D. Y& wgll

_____ instrument is used to measure accurate pH

A. pH Meter B. Colorimeter

E: Spectrometer D. Hygrometer
_ Altet AsU Al pH HIUAL HI duRR B

A. pH 22 B. slcddl@e?

C. DERIDEE D. &lgoMer

The branch of chemistry that deals with the relations between electrical and
chemical phenomena is called as _____

A. Physical Chemistry B. Electrochemistry

C. Metallurgy D. Thermodynamics

220l @stiot ol 2uull B Qg U 2u12Ql5 AUUA AR otl Aol UR
AUURA D AN ___ 58 B

A. alllds 2wl B. [Qgyd e
c. (G EIE D. Guyadauat
Which statement is true for an electrochemical cell?



68.

69.

69.

70.

70.

A. Oxidation occurs at the B. Reduction occurs at the anode

anode only only

C. Oxidation occurs at anode D. Reduction occurs at anode and
and cathode cathode

Qg ua@s SN HER 53 [Autet W3] B2

A. HIA Aells UR % (A3t B.  HIA Aells UR % AssAct wA B
w B

e Aolls Wal 3AS UR D. Wolls A FAs UR AssAet

(B39t AU B A B

pH range is in between

A. Oto7 B. Oto 14

C. 1to 14 D. 1to14

pH __ ol aRA 8l ®

A. odlz B. 0 ¢l 14
& 1l 14 D. 114

In an electrochemical cell the metal which has higher oxidation potential than
other will act as?

A, Electrolyte B. buffer

C. Cathode D. Anode

Qe 2@ S ML B Ui A WAt W2otluct ay 8o Aol ddly ad
87

A. Qg Qoua B. G2

o EINN D. Aells

s o e o o e ofe e ofe ol e ol e ol
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